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1.Introduction 

  As we all know, the Apple is a leader company in the mobile phone and personal computer. 

The Apple company promote one size iPhone, iPad and mac, they all have high sell price 

and quantity, the next year, they will upgrade their products. Thanks to the boutique strategy, 

the Apple company gets high profit in the world communication industry. Now Apple is 

constructing the ecosystem about their products. What profit can Apple get every year? How 

about the return on equity or assets? How the young company beat the old mobile phone 

leader Nokia and become a stronger man in the technology industry? How can Apple take 

so much share of the mobile phone market and beat SAMSUNG LENOVO HUAWEI and 

so on? How Apple show high profitability performance in this industry? How does it take 

measures to maintain the share of the world, and make the consumers interest in their 

products? These problems will be solved in my thesis. 

In this thesis, we want to analyze the Financial assessment of the Apple company, 

especially in the profitability. Financial analysis aims to through the annual report, financial 

data and use all kinds of tools such as the Common-size analysis, financial ratios to assess 

the company. Financial analysis can evaluate the performance of a company, such as the 

solvency, activity ratios, return on equity and assets. On one hand, analyzing the performance 

of the company can help investors to select the right company, give some suggestions to the 

shareholders and creditors to do logical invest. On the other hand, financial analysis can help 

the managers to make right policies on the development, selling, advertisement and 

operating, change their strategy in time. Last but not least, financial analysis can give a 

review of a company in the last year, and depend on this, we can forecast the operating 

conditions of the company next year. 

We select the Apple annual reports (from the 2011-2015) to analysis the thesis.     

This thesis is divided into five chapters; the first chapter is the introduction of the thesis. It 

mainly introduces the propose of the thesis and what we will analysis. Second chapter is 

description of financial analysis methodology, third chapter is to use Common-size analysis 

to analyze selected company, forth chapter uses all kinds of ratios to value the company, 

especially the profitability. 
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In the chapter 2, we describe the financial statement at first, the balance sheet, income 

statement, and cash flow statement. Then we explain the financial analysis methodology, 

Common-size analysis (Vertical and Horizontal common-size analysis). After that, we 

introduce four kinds of ratios: liquidity ratios, solvency ratios, activity ratios, profitability 

ratios. In the end of the chapter, we use the Du-Pont analysis of ROE. 

 In the chapter 3, we introduce our company Apple Inc. from four parts, history, 

development of Apple company, main competitors in the world and the structure of company. 

Then we use Common-size analysis to analyze the financial data, balance sheet, income 

statement, cash flow statement of selected years. we use four types of ratios to analyses 

Apple group’s finance. Firstly, we calculate the four ratios of Apple (liquidity ratios, 

solvency ratios, activity ratios, profitability ratios) to evaluate the health of Apple. Then we 

use Du-Pont analysis to analyze the ROE, which factors affects ROE 

In the chapter 4, we analyze some factors influence the company, which decrease the 

profitability, which increase the ROE. And we give some recommendation to the company, 

should they increase their development fees or reduce the sales expenditures. 

The last chapter is a conclusion of whole thesis, it elaborates the financial statement of 

the company, and the profitability of the company. 
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2. Description of the financial analysis methodology 

  In this chapter, we will introduce some financial analysis methodology used in the 

next chapters. The chapter includes four parts, firstly, we will introduce the financial 

statement, balance sheet, cash flow statement, income statement. Secondly, we use 

Common-size analysis, from vertical and horizontal methodology. Thirdly we introduce four 

ratios of finance. At the end, we introduce the Du-Pont analysis. 

2.1 Financial statement 

  Financial statement is a record of a company’s business and activities, this record is 

presented in a logical structure and provides information to investors, creditors and others 

who interested in the company. 

   In this part, we introduce three financial statement, balance sheet, cash flow 

statement, income statement. 

2.1.1 Balance Sheet 

  The balance sheet, also called the statement of financial position, it reflects the 

information about what a company owns (its assets), the value of these assets and mix of 

capital (capital structure) used for financing these assets at a fixed time point. 

  A standard balance sheet has three parts: assets, liabilities and equity. The 

relationship between assets, liabilities and equity is: 

Assets = Liabilities + Equity                          (2.1) 

Table 2.1 A example of balance sheet 

TOTAL ASSETS TOTAL EQUITY+LIABILITIES 

LONG-TERM ASSETS Equity 

Tangible assets Share capital (par value) 

Intangible assets Contributed capital (in excess of par 

value) 

Financial investments Retained earnings 

Other long-term assets  

Current assets Liabilities 

Inventories Short-term borrowings 
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Accounts receivables Long-term debt 

Marketable securities Accounts payable 

Other short-term assets Notes payables 

Cash and cash equivalents Accrued expenses 

Other assets Other liabilities 

Balance sheet means it has two sides of equation above-assets on the left side, the 

liabilities and equity on the right side, and they must balance out. We classify these items by 

liquidity, the assets are usually listed first. Both assets and liabilities  by convention 

appear in descending order of liquidity, or the length time it takes for accounting to be 

converted into cash in the normal course of business. Business operating always measures 

its money in the account and money in the hand, and transaction is not happened immediately, 

so it has payable and receivable, these will be show in the balance sheet. 

 Long-term assets point that assets have more than one-year maturity or over one 

operating cycle and have relatively low liquidity. Long-term assets are classified into three 

types: tangible assets, intangible assets and financial investment. Tangible assets include the 

land, buildings, equipment, machinery, furniture and nature resource owned by the company. 

Intangible assets are assets which need to purchase, these assets are not physical, like 

trademark, patents, goodwill, etc. Financial investment includes investments in stocks, 

bonds and similar long-term financial instruments. 

 Current assets are cash or some assets can be converted into cash easily. Current assets 

include cash and cash equivalents, accounts receivables, inventory, market securities, 

prepaid expenses and other liquid assets can be converted into cash easily. 

 Total assets minus equity is the owner’s liabilities. Owner’s liabilities represent money 

or capital which is borrowed and must pay back at a predetermined date. On a company’s 

balance sheet, it shows as current liabilities, long-term debt, accounts payable, notes payable, 

accrued liabilities. Current liabilities are some debts must be paid back within 12 months or 

a normal operating cycle. The most common components of the current liabilities are: 

accounts payable, notes payable, current tax payable, accrued liabilities and unearned 

revenue. The other type of liabilities is long-term liabilities, which include loans from banks 



9 

 

and other sources and the money lend for more than 12 months (bank loans, bonds payable, 

long-term notes payable, etc.). 

 Generally speaking, owner’s equity is the shareholder’s investment or capital belongs 

to the owners of the company. It includes these components: common stock, preferred stock, 

paid-in capital (share premium) and retained earnings. Equity is assets minus the liabilities, 

so it will be affect by the liabilities. 

2.1.2 Income statement 

Income statement indicates the amount of profit generated by a company over a certain 

period, often one year. The basic equation underlying the income statement is: 

              Revenue－Cost = Net income/loss                      (2.2)  

Table 2.2 An example of income statement 

Revenue 

Cost of services 

Gross profit 

Selling, general and administrative expenses 

Income from operations 

Interest income 

Other expense 

Income before income taxes and minority interest(EBIT) 

Provision for income taxes 

Income before minority interest(EBT) 

Minority interest 

Net income(EAT) 

Source: Thomas R. Robinson, CFA, Hennie van Greuning , CFA, Elaine 

Henry, CFA, Michael A. Broihahn, CFA; International Financial Statement Analysis: 

P118. 

Generally, revenue is reported on the top of an income statement. Revenue is the income 

charged from sale of goods and services, or any other use capital and assets of the company. 

Costs is amount that must be happen when a company does daily operating activities. 
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Income statement has two subtotals: operating activity and financing activity. 

Operating activity sometimes called operating profit before interest and taxes-EBIT

（when there is no non-operating income）. The operating profit include the revenues and 

costs. The operating revenues are money from selling products, services and goods. 

Operating costs charged from salary of workers, materials, depreciations, etc. 

Financial activity is a company operating about financing. Financial activity involves 

issuing of shares, repayment of loan, sale of an investment. Financial revenues are interests 

receives and revenue from owned securities. And financial costs are always interest paid and 

dividend paid from bonds and stocks. 

2.1.3 Cash Flow Statement 

  The cash flow statement provides information about company’s cash inflows (cash 

receipts) and outflows (cash payments) during a period, often a year. This information gives 

ways to managers, creditors, investors to calculate the liquidity, solvency ratios. There is 

also some relationship among balance sheet, income statement and cash flow statement. 

Cash flow statement shows how cash flows related with the ending cash flows and the 

beginning of a cash flow sheet and reflect the balance sheet. The cash-based information 

provided by the cash flow statement contrasts with the accrual-based information provided 

by the income statement. The cash flow statement classified the cash of a company into three 

types: operating activities, investing activities and financing activities. 

The basic equation underlying in the cash flows statement is: 

Cash flows from operating activities + Cash flow from investing activities +  

Cash flow from financing activities.                              (2.3) 

Table 2.3 A Example of cash flow instatement 

Cash flow from Operating Activities 

Cash received from customers 

Cash paid to employees 

Cash paid for other operating expenses 

Cash paid for income tax 

Net cash provided by operating activities 
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Cash flow from Investing Activities 

Cash received from sale of equipment 

Cash paid for purchase of equipment 

Net cash used for investing activities 

Cash Flow from Financing Activities 

Cash paid to retire long-term debt 

Cash paid for dividends 

Net cash using for financing activities 

Source: Thomas R. Robinson 2008, CFA, Hennie van Greuning , CFA, Elaine 

Henry, CFA, Michael A. Broihahn, CFA; International Financial Statement Analysis: 

P238 

Operating activities include the company’s day-to-day activities that create revenues. 

Cash inflows result from cash sales and from the collection of accounts receivables. For 

example, company’s sale goods and services, collection of receivables, etc. Cash outflows 

result from cash payments for inventories, salaries, taxes and other operation-related 

expenses and from paying accounts payable, etc. 

Investing activities point to purchase and sell long-term assets. They include purchasing 

and selling property, plant, equipment, intangible assets and financial investments. 

Financial activities include cash inflows and out flows by obtaining and repaying 

capital. In this category, cash inflows include cash from issuing shares (common and 

preferred) or bonds and cash from credits and borrowings. Cash outflows include cash 

payments to purchase shares, to pay dividends and to repay bonds and other borrowings, etc. 

2.2 Common-Size Analysis 

   Common-size analysis is to analyze financial statement data and their changes over the 

time. It aims to identify the trends and major differences. The common-size financial 

statement makes it easier to analyze a company’s operating changes and compare it with 

other peers. 

   There are two main types: horizontal common-size analysis and vertical common-size 

analysis. 
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2.2.1 Horizontal common-size analysis 

Horizontal common-size analysis is the to use the evolution of financial statements 

data over a time or their changes with respect to a given period as a benchmark. This analysis 

uses absolute changes and percentage to show a company’s trend. Horizontal analysis is a 

fundamental analyst tool for measuring cash flows and detecting unusually large or small 

trends. It can compare two or more time periods. 

 We can calculate the absolute change: 

                       ∆X = Xn+1 − 𝑥𝑛.                    (2.4) 

Where the xn+1 represents the reference item in the benchmark or the base period, 

and 𝑥𝑛 represents the same item in the benchmark or base period. The relative change as 

follow: 

                       %Y =  
Δx

xn
∙ 100.                       (2.5) 

Where the ∆X is the absolute change between Xn+1 and 𝑥𝑛 . 

2.2.2 Vertical common-size analysis 

 In the fundamental analysis, we use the vertical common-size analysis often, it is an 

analysis of the evolution of financial statement data over the time or their changes with 

respect to a given period as a benchmarks (total revenues, total assets, total liabilities, etc.). 

To conduct a vertical common-size analysis of a balance sheet, the total assets and the total 

liabilities and shareholder’s equity are the benchmark of balance sheet. All individual assets 

items are shown in a percentage of the total assets. To conduct a vertical common-size 

analysis of an income statement, revenue is a benchmark at a given point, all the other items 

(like the cost of sales, gross profit, operating expense, income tax, and net income etc.) are 

shown as a percentage of revenue. 

In a vertical analysis the percentage is computed by using the following formula: 

          percentage of base = 
𝐴𝑚𝑜𝑢𝑛𝑡 𝑜𝑓 𝑖𝑛𝑑𝑖𝑣𝑖𝑑𝑢𝑎𝑙 𝑖𝑡𝑒𝑚

𝐴𝑚𝑜𝑢𝑛𝑡 𝑜𝑓 𝑏𝑎𝑠𝑒
 ∙ 100.       (2.6) 

where the amount of base we can write as ∑ 𝑋𝑖𝑛 , every individual item we write as 𝑋𝑖. 
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2.3 Financial ratio analysis 

There are many relationships between financial accounts and between expected 

relationships from one point to another. Ratios are a useful way to show the relationship 

between these data. 

Financial ratio analysis uses the financial accounting and other information in the sheet 

to assess a company’s financial performance and financial conditions. Through the financial 

ratio, we can formulate the present business health. The ratios calculated from the financial 

data and the market data. Of course, the interpretation of these ratios are considered into a 

business cycle or company-specific events. Common ratio categories include liquidity, 

solvency, activity and profitability ratios 

2.3.1 Profitability ratio 

Profitability ratio is a metrics to measure a business’s earnings which compares to its 

costs and relevant expenses for a business period. Profitability affects a company’s 

competitive in the market and the efficient of its management, so the better or higher 

profitability ratio means more competitive in the market. 

The Gross profit margin (GPM) is the gross profit to revenue. The gross profit indicates 

the difference between the revenue and the cost of goods sold. We can know how much euro 

left after the cost of goods sold. The formula is: 

Pr

Re

Gross ofit
GPM

Total venue





 .                       (2.7) 

The operating profit margin indicates the percentage of revenue available to cover 

operating and other expenditures. Its function is: 

argin
Re

EBIT
Operating profit m

venues
   .                 (2.8) 

The operating profit margin can reflect a company’s competition, a higher OPM means 

higher products price and lower production costs. If the product has some advantages than 

others, company can charge higher for it.  

The net profit margin is the percentage of the revenue remaining after all operating 

expenditures have been deducted from the total revenue. The function is shown as: 

Pr arg
Re

EAT
Net ofit M in

venues
     .                   (2.9) 
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     The NPM reflects every one euro can have how much net profit, when operating a 

company, expand the company scale, expenditures (sale, finance, manage) is increased too, 

so we should concentrate on the changes of net profit margin when one more euro added. 

 Pretax profit margin is the earning before tax take proportion of the total sales or 

revenues. The higher pretax profit margin means the company is more profitable. The 

function of pretax profit margin is: 

             Pr arg
Re

Earning before tax
etax profit m in

Total venue

 
  


 .           (2.10) 

The return on assets is the ratio of the net income to the total assets. And it indicates a 

company’s net profit generated per euro invested in total assets, the higher the ratio is, the 

more payback we can get from one euro invest. Its function is: 

               
Net income

ROA
Total assets





  .                           (2.11) 

Return on equity is the ratio of net income to the equity (including the minority, 

preferred stocks, and common stocks), especially directed to the return to shareholders. It 

measures how much profits generated per euro of the shareholder’s investment. The higher 

it is the more return shareholders can get. Its function is shown as: 

                   
Net income

ROE
Equity


  .                        (2.12) 

2.3.2 Liquidity Ratios 

Liquidity ratios measures a company’s ability to cover its short-term obligations. 

Generally, the higher of the ratio, the larger margin of safety that the company possesses to 

cover short-term debt. Liquidity is a metrics that how quickly assets are converted into cash. 

Common liquidity ratios include the current ratio, the quick ratio and the operating cash 

flow ratio. 

The current ratio is known as working capital ratio which measures a company’s ability 

to pay short-term and long-term obligations. It is the indicator to measure the company’s 

short term risk. The ratio can be written: 

Current assets
Current ratio

Current liabilities


 


 .           (2.13) 
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A higher ratio means a higher level of liquidity, in contrast, a lower ratio indicates less 

liquidity. 

Even though we can use current ratio to measure a company’s liquidity, but people want 

to know the liquidity precisely, so we can use the quick ratio. The calculate show as: 

Current assets inventory
Quick ratio

Current liabilities

 
 


, or           (2.14) 

          
ReCash Short term marketable investment ceivables

Quick ratio
Current liabilities

    
 


. (2.15) 

The quick ratio is more stringent measure of liquidity. The quick ratio reflects the fact 

that certain current assets-such as a period expenses, some taxes, and employee-related 

prepayments-represent.  

The cash ratio normally represents a reliable measure of an individual company’s 

liquidity. It reflects a company’s solvency, only highly marketable short-term securities and 

cash are calculated to the current liabilities. It is most commonly used as a measure of 

company liquidity. The function is shown as: 

secCash short term marketable urities
Cash ratio

Current liabilities

   
 


  .    (2.16) 

2.3.3 Solvency(leverage) ratios 

  Solvency refers to a company’s ability to fulfil its long-term debt obligation. We use 

solvency ratios to assess a company’s level of financial risk. Solvency ratios give 

information regarding the amount of liabilities in a company’s structure. Solvency ratios are 

primarily divided into two types: Debt ratios and coverage ratios. Debt ratios focus on the 

balance sheet and measure the amount of debt capital relative to the equity capital. Coverage 

ratios concentrates on the income statement and measure the ability of a company to cover 

its debt payments. 

Debt ratio measures a company’s total debt (long-term and short-term debt) to all 

assets. It can be interpreted as the proportion of a company’s assets that are financed by debt. 

Lower debt ratio means lower financial risk and stronger leverage. Its function is shown as: 

( )Total debt liabilities
Debt ratio

Total assets


 


 .                 (2.17) 

     Sometimes, the following financial ratios are used to analyze in greater depth the 

structure of the debt used for the financing of assets: 
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Long term debt

Long term debt ratio
Total assets

 
   


.               (2.18) 

                
Short term debt

Current debt ratio
Total assets

 
  


 .                (2.19) 

     The debt-to-equity ratio measures the amount of debt capital relative to equity capital. 

The D/E ratio indicates how much debt a company uses represented from shareholder’s 

equity. A higher D/E ratio generally means weaker solvency and vice versa. The function is: 

Total debt
Debt to equity ratio

Equity


    .                    (2.20) 

The debt-to-equity ratio less than one, it means the company’s long term finance risk is 

low.  

Financial leverage ratio measures the amount of total assets supported for each one 

money unit of equity. Through it, we can know how much capital comes in the form of debt, 

and we can evaluate a company’s ability to cover financial obligations. The function of 

financial leverage ratio is as follow: 

Total assets
Financial leverage

Total equity


 


.                 (2.21)  

Interest coverage ratio, also called as the times-interest-earned ratio, means the number 

of times of a company’s EBIT can meet its interest payments. A higher interest coverage 

ratio indicates strong solvency and offer greater assurance that the company can service its 

debt (i.e. bank debt, bonds, notes, etc.) from operating earnings. The function is as following: 

           
interest and taxes

coverage
Earning before

Interest
Interest payments

   
 


.      (2.22) 

The fixed-charge coverage ratio is a ratio indicates a company’s ability to satisfy fixed 

financing expenses, such as the interest and leases. It measures the number of times a firm’s 

earning can meet the firm’s interest and lease payments. A higher fixed-charge coverage ratio 

indicates stronger solvency. Its function is as follows: 

arg cov
EBIT lease ayments

Fixed ch e erage ratio
Interest payments lease payments

 
   

  
 .  (2.23) 

The bank debt-to-equity ratio is a ratio which plays an important role in firms using 

primarily bank debt for asset financing. The bank debt payback period refers to the period 
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(number of years) required to repay bank debt from the operating cash flow (EAT + 

depreciation). This is the ratio used by commercial banks to assets the company’s ability to 

repay the bank debt, the function is shown as: 

Bank debt
Bank debt to equity ratio

Equity


      .           (2.24) 

2.3.4 Activity ratios 

     Activity ratio is to evaluate how well a company does in putting its investment to use. 

Activity ratios are analyzed as indicators of ongoing operating performance, how effectively 

assets are used by a firm. The ratios are related to working capital management and long-

term assets. We can divide activity ratios into two types: turnover ratios and number of days. 

     Total assets turnover (TAT) is a ratio that reflects how soon from a company invest 

capital and get output. Total assets turnover measures a company’s sales or revenues 

generated relative to the value of its assets, and it is an important factor shows how efficient 

a company is employing its assets in generating revenue. The formula of TAT is: 

               
Revenue

Total assets turnover
Average total assets

  
 

  .            (2.25) 

      Inventory turnover is the costs of goods sold to the inventory. It indicates how 

efficient the inventory management. The higher of the inventory turnover ratio, the shorter 

of the time for the inventory held in storehouse, it means lower number of days of inventory 

on hand. The ratio is computed as: 

Revenues
Inventory turnover

Average inventory
 


 .           (2.26) 

      Receivable turnover ratio is the ratio of total revenue to the average receivables. The 

ratio is an indicator of the sources tied up to the accounts receivable and how many days for 

receivables are collected. A relatively high receivable turnover ratio indicates a company’s 

credit, collection, liquidity is high. Or a relatively low receivable turnover ratio indicates that 

the receivables remain for a long time. The function is: 

               
Re

Re
venue

ceivable turnover
Average receivables

 


.              (2.27) 
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     Working capital turnover compares revenues with working capital, it shows how 

efficiently working capital is employed. Working capital is the funds the current assets minus 

current liabilities, the formula is as following: 

            
ReTotal venue

Working capital turnover
Average working capital


  

 
 .        (2.28) 

     The number of days a company ties up funds in inventory is determined by the total 

amount of money represented in inventory and the average day’s costs of goods sold. The 

days’ sales of inventory value, or we can say DSI, is a financial tool to measure how long it 

takes a firm to turn its inventory (including goods that are a work in progress, if applicable) 

into sales. The lower of the ratio means the goods is sold quickly, and the costs of inventory 

is low. We compute the number of days of inventory by calculating the ratio of the amount 

of inventory on hand to the average day’s cost of goods sold: 

     
' cos

Inventory
Number of days turnover

Average day s ts of goods sold
   

    
 .       (2.29) 

             
(cos / 365)

Inventory
Number of days turnover

ts of goods sold
   

  
.       (2.30) 

 The days usually use 365 days. 

 Days of sales outstanding (DSO) is an indicator that how many days of a sale – an 

account receivable is created and account receivable is in cash. When the ratio is low, it 

means the efficient of the liquidity capital is high. The number of days of receivables’ 

function is shown as: 

tan
'

Accounts receivable
Days of sales outs ding

Average day s revenue


   

 
.          (2.31) 

tan
(Revenue/ 365)

Accounts receivable
Days of sales outs ding


     .          (2.32) 

     Here we use 365 days in one year. 

     Number of days’ payable tell us how long it takes a company to pay its short-term 

obligations. DPO (days payable outstanding) is typically looked at either quarterly or yearly. 

The formula is: 
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'

Accounts payable
Number of days of payables

Average day s purchases


   

 
 .        (2.32) 

      The number of one year in our calculation is always 365 days. 

      Fixed assets turnover is a financial ratio of one company’s net sales to the fixed assets. 

The fixed assets turnover ratio measures a company’s ability to generate net sales from fixed-

assets investment (including the property, plant, equipment-net of depreciation). Higher 

fixed ratio means a company has high efficient in using the investment in fixed assets to 

revenues. Its function is as shown: 

Revenue
Fixed assets turnover

Net fixed assets
 

 
 .                (2.33) 

       The operating cycle is a measure of how long it takes to convert an investment in 

cash in inventory back into cash through collection of accounts receivables: 

             

Operating cycle number of days of inventory number of days of receivables          .  

                                                                 (2.34) 

       The number of days can give us information that how long it takes the company to 

pay for purchase made to create the inventory. The difference between the operating cycle 

and the number of days of payables is the net operating cycle: 

     Net operating cycle Operating cycle number of days of payables         . 

                                                                 (2.35) 

      

2.4 Du-Pont analysis 

      The Du-Pont analysis is a method to evaluate company’s financial conditions 

started by the DuPont corporation in the 1920s. It uses decomposition to analyze the inner 

links among a kinds of factors. Here we analyze the ROE. 

       DuPont analysis exposed that ROE is affected by three factors: Operating efficiency 

(which is measured by profit margin), Asset use efficiency (which is measured by total asset 

turnover), Financial leverage (which is measured by the equity multiplier). 

       ROE means the return on equity, through decomposing ROE into some basic ratio: 
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Net income

ROE
Equity


 .                       

      We use DuPont analysis step by step, we need to decompose ROE, so we can get the 

following formula: 

                   
Net income Net income Total assets

Equity Total asset Equity

  


   .           (2.36) 

      Where the 
Net income

Assets


  is the ROA (return on assets), 

Total assets

Equity


  is financial 

leverage, so we can know ROA and the financial leverage are the factors affect ROE. In the 

other words, a company can through increasing ROA or financial leverage to increase ROE. 

      Then, the individual components such as ROE can be decomposed, the function is as 

following: 

                 
Re

Re

Net income venue Total assets
ROE

venue Total assets Equity

 
  


 .       (2.37) 

      Which we can computer like this: 

                 argROE Net profit m in Asset turnover Leverage          (2.38) 

      We can continue to decompose the net profit margin to more details, the ROE can be 

computed as: 

          
Re

Re

Net income EBT EBIT venue Total assets
ROE

EBT EBIT venue Total assets Equity

 
    


.  (2.39) 

       Where 
Net income

EBT


 is the tax burden, 

EBT

EBIT
 is the interest burden, 

Re

EBIT

venue
 

is the operating profit margin, 
Revenue

Assets
 is the assets turnover and 

Assets

Equity
 is the financial 

leverage.  

       There are some methods to analyze the influence on each item of ROE, now we 

describe three methods here. 

       Method of gradual changes is a method enables to quantify the changes in the basic 

ratio caused by the changes in the component ratio. In the case of decomposition with 3 

component ratios: 
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                        ∆𝑋𝑎1 = ∆𝑎1 ∙ 𝑎2,0 ∙ 𝑎3,0 .                    (2.40) 

                        ∆𝑋𝑎2 = 𝑎1,1 ∙ ∆𝑎2 ∙ 𝑎3,0 .                    (2,41) 

                        ∆𝑋𝑎3 = 𝑎1,1 ∙ 𝑎2,1 ∙ ∆𝑎3 .                    (2,42) 

       X means the basic ratio. ∆X is the absolute change in the basic ratio. a presents the 

component ratio and ∆a is the absolute change in the component ratio. We use this method 

to analyze the influence of each item in ROE. 

       Second way to decompose is the logarithmic method. It has some advantages, we 

need just one formula for the impact quantification regardless of how many component ratios 

we have. The formula is:  

                        
ln

ln
ai

ai

x

xI
X

I
  .                        (2.43) 

      Where X means basic ratio and ∆X is absolute change in the basic ratio. l x presents 

the index of change in basic ratio and 𝑙𝑎𝑖 is the index of change in component ratio. 

      The third method is functional decomposition method. The method works with the 

relative changes in basic and component ratios. The functions are: 

      ∆𝑋𝑎1 =
1

𝑅𝑥
∙ 𝑅𝑎1 ∙ (1 +

1

2
∙ 𝑅𝑎2 +

1

2
∙ 𝑅𝑎3 +

1

3
∙ 𝑅𝑎2 ∙ 𝑅𝑎3) ∙ ∆𝑋 .       (2.44) 

∆𝑋𝑎2 =
1

𝑅𝑥
∙ 𝑅𝑎2 ∙ (1 +

1

2
∙ 𝑅𝑎1 +

1

2
∙ 𝑅𝑎3 +

1

3
∙ 𝑅𝑎1 ∙ 𝑅𝑎3) ∙ ∆𝑋 .     (2.45)  

∆𝑋𝑎3 =
1

𝑅𝑥
∙ 𝑅𝑎3 ∙ (1 +

1

2
∙ 𝑅𝑎1 +

1

2
∙ 𝑅𝑎2 +

1

3
∙ 𝑅𝑎1 ∙ 𝑅𝑎2) ∙ ∆𝑋  .     (2.46) 

The following is the ROE tree, we can know the relationships of individual items and 

know how they effects each other. 
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Chart 2.4 The decomposition of ROE 
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3 Assessment of financial situation 

In this chapter, we want to describe Apple from four parts. First, we introduce the 

company (history, business structure, competitors and development), then we analyze the 

company by the common-size analysis, at last we assess the company’s financial statement 

by ratios analysis and Du-Pont analysis. 

3.1 Introduction of the company 

The Company designs, manufactures, and markets mobile communication and media 

devices, personal computers, and portable digital music players, and sells a variety of related 

software, services, accessories, networking solutions, and third-party digital content and 

applications. The Company’s products and services include iPhone ®, iPad®, Mac®, iPod 

®, Apple TV ®, a portfolio of consumer and professional software applications, the iOS and 

OS X ® operating systems, iCloud ®, and a variety of accessory, service and support 

offerings. In September 2014, the Company announced Apple Watch™, which is expected 

to be available in early calendar year 2015, and Apple Pay™, which became available in the 

U.S. in October 2014. The Company also sells and delivers digital content and applications 

through the iTunes Store ®, App Store™, iBooks Store™ and Mac App Store. The Company 

sells its products worldwide through its retail stores, online stores and direct sales force, as 

well as through third-party cellular network carriers, wholesalers, retailers and value-added 

resellers. In addition, the Company sells a variety of third-party iPhone, iPad, Mac and iPod 

compatible products, including application software, and various accessories, through its 

online and retail stores. The Company sells to consumers, small and mid-sized businesses 

(“SMB”) and education, enterprise and government customers. The Company’s fiscal year 

is the 52 or 53-week period that ends on the last Saturday of September. The Company is a 

California corporation established in 1977. 

3.1.1 History 

Steve Jobs and Stephen Gary found the Apple Inc. in the 1976. For 35 years’ 

development, Apple surpassed the Microsoft company, become the second large company 

in the USA. And now, the Apple is the world second mobile phone company. 
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Since Apple company’s first IPO (Initial public offerings), in 2012 Apple’s market value 

research 623.5 billion, until the June, 2014, Apple become the world’s largest company for 

three years. Apple ranking to the 15th at the fortune list. Recently years, Apple devoted itself 

to the mobile phone:(iPhone), media play(iPod), personal computer(iMac), table 

computer(iPad), online service include the iCloud, iTunes store, app store, and some 

software OS X and IOS and etc. To June 2014, Apple has 425 premium stores in 14 countries, 

as well as Apple's online store, iTunes store. iTunes Store is the world's largest music retailer. 

Apple is a company's most valuable publicly traded company in June 2014 to have a market 

capitalization of about $ 600 billion, the same year in November is the first company to break 

the 700 billion US dollars in history. As of September 29, 2012, Apple has staff of 72,800 

permanent full-time, temporary full-time employees 3300 in the world. 2013 total revenue 

of $ 170.9 billion worldwide. As of the first quarter of 2014, Apple's sales in the five-year 

average growth rate of 39%, 45% profit margin. May 2013 Apple's first entry into the 

Fortune 500 list of the top 10, compared with 2012 increased by 11, ranked No. 6. 

3.1.2 Business Strategy 

     By now, Apple has three main products: consumer digital products, operating system 

software and application software. Consumer digital products are I -series products, 

operating system like IOS and OX S. The Company is committed to bringing the best user 

experience to its customers through its innovative hardware, software 

and services. The Company’s business strategy leverages its unique ability to design and 

develop its own operating systems, hardware, application software and services to provide 

its customers products and solutions with innovative design, superior ease-of-use and 

seamless integration. As part of its strategy, the Company continues to expand its platform 

for the discovery and delivery of third-party digital content and applications through the 

iTunes Store. As part of the iTunes Store, the Company’s App Store and iBooks Store allow 

customers to discover and download applications and books through either a Mac or 

Windows-based computer or through iPhone, iPad and iPod touch ® devices (“iOS devices”). 

The Company’s Mac App Store allows customers to easily discover, download and install 

Mac applications. The Company also supports a community for the development of third-



25 

 

party software and hardware products and digital content that complement the Company’s 

offerings. The Company believes a high-quality buying experience with knowledgeable 

salespersons who can convey the value of the Company’s products and services greatly 

enhances its ability to attract and retain customers. Therefore, the Company’s strategy also 

includes building and expanding its own retail and online stores and its third-party 

distribution network to effectively reach more customers and provide them with a high-

quality sales and post-sales support experience. The Company believes continual investment 

in research and development (“R&D”), marketing and advertising is critical to the 

development and sale of innovative products and technologies. The Company believes that 

sales of its innovative and differentiated products are enhanced by knowledgeable 

salespersons 

who can convey the value of the hardware and software integration and demonstrate the 

unique solutions that are available on its products. The Company further believes providing 

direct contact with its targeted customers is an effective way to demonstrate the advantages 

of its products over those of its competitors and providing a high-quality sales and after-sales 

support experience is critical to attracting new and retaining existing customers. 

3.1.3 Competitors of industry 

     Recently years, the markets for the electronic and service are highly competitive and 

the company is met aggressive competition in the area. These markets are characterized by 

frequent product introductions and advanced technology that have substantially increased 

the capabilities and use of mobile communication and media devices, personal computer and 

other digital electronic devices. Apple’s competitors who sell the mobile device and personal 

computers based on the own system or operating system must decrease their price and profit 

margin, in order to get more market share. The company’s financial condition and operating 

results also effect its performance in the market. In the personal computer market, even 

though Microsoft has the most popular system in the world: Windows. The Apple also has a 

lot of consumers in OX S system. So the Apple’s main competitors in personal computer are 

Dell, HP, Acer and Lenovo. Mobile computing is the new scientific and technological 

undertakings, until now, Apple has the highest operating profit in the industry. And in this 
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industry, Apple’s competitors are Google, Samsung, Nokia and Asus. Before iPhone came 

out in the world, the smart phone is leaded by the Canada’s company, RIM, blackberry and 

Nokia has the largest market share. But with the iPhone comes out, the mobile phone 

industry has a tremendous change, Google company launched a system: Android. This 

system is used at Huawei, Samsung, Sony, HTC and Lenovo. So these brand mobile phones 

are main competitors to Apple. In the entertainment media and application area, Apple and 

Google are the main companies, Apple’s IOS are applied to own iPad, iPod and etc. And the 

system, Android is applied to many competitors’ products. Therefore, in this industry, 

Apple’s main competitor is Google. When October,2014, Apple declared that it will develop 

mobile pay area. In this area, Apple is a new participant, the older companies are PayPal and 

ZhiFuBao (Alibaba’s company) 

And after that Samsung comes out new mobile pay item, Samsung Pay. The Company’s 

future financial condition and operating results depend on the Company’s ability to continue 

to develop and offer new innovative products and services in each of the markets in which 

it competes. The Company believes it offers superior innovation and integration of the entire 

solution including the hardware (iPhone, iPad, Mac and iPod), software (iOS, OS X and 

iTunes), online services and distribution of digital content and applications (iTunes Store, 

App Store, iBooks Store and Mac App Store). Some of the Company’s current and potential 

competitors have substantial resources and may be able to provide such products and 

services at little or no profit or even at a loss to compete with the Company’s offerings. 

3.1.3 Development of Apple Inc. 

     Now, Apple company is concentrated on transforming, Apple’s main profit comes 

from iPhone and it is urgent to develop some other products. Apple is over-dependence on 

its mobile phone industry. The Company continues to develop new technologies to enhance 

existing products and to expand the range of its product offerings through R&D, licensing 

of intellectual property and acquisition of third-party businesses and technology. Total R&D 

expense was $6.0 billion, $4.5 billion and $3.4 billion in 2014, 2013 and 2012, respectively. 
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3.2 Common-size analysis of Apple 

     In this chapter, we describe the common-size analysis of Apple by the vertical 

common-size analysis and horizontal common-size analysis. 

      This Simple balance of Apple Inc. you can find in the complete balance sheet is in 

Annex 1 and complete income statement is in the Annex 2. We will use five years’ data from 

2011 to 2015 to analysis. 

3.2.1 Vertical common-size analysis of Apple Inc. 

      This part, we use vertical common-size analysis to evaluate Apple, we can know each 

item take how much proportion in the selected sheet. Assets are given as the benchmark, the 

percentage result is shown in the Tab 3.1 and the percentage in the Chart  

 Table 3.1 Assets of the Apple from 2011 to 2015(in millions). 

ASSETS 2011 2012 2013 2014 2015 

Current assets:      

Cash and cash equivalents 9,815 10,746 14,259 13,844 21,120 

Short-term marketable securities 16,137 18,383 26,287 11,233 20,481 

Accounts receivable 5,369 10,930 13,102 17,460 16,849 

Inventories 776 791 1,764 2,111 2,349 

Deferred tax assets 2,014 2,583 3,453 4,318 5,546 

Vendor non-trade receivables 6,348 7,762 7,539 9,759 13,494 

Other current assets 4,529 6,458 6,882 9,806 9,539 

 

 

 

 

 

 

 

 

 



28 

 

Tab 3.2 The proportion of each item in current assets (%) 

 2011 2012 2013 2014 2015 

Cash and cash 

equivalents 

21.82 18.64 19.46 20.20 23.63 

Short-term 

marketable 

securities 

35.87 31.89 35.87 16.39 22.92 

Accounts 

receivable 

11.93 18.96 17.88 25.48 18.85 

Inventories 1.72 1.37 2.41 3.08 2.63 

Deferred tax 

assets 

4.48 4.48 4.71 6.30 6.21 

Vendor non-trade 

receivables 

14.11 13.46 10.29 14.24 15.10 

Other current 

assets 

10.07 11.20 9.39 14.31 10.67 

Total current 

assets 

100.00 100.00 100.00 100.00 100.00 

 

Chart 3.1 Vertical common-size of current assets 

 

Table 3.2 The proportion of each item of total assets 

Total current assets 44988 57653 73286 68531 89378 

total long-term assets 71383 118411 133714 163308 201101 

total assets 116371 176064 207000 231839 290479 
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Table 3.3 The decomposition of total assets of Apple Inc. 

Total 

current 

assets 

38.66 32.75 35.40 29.56 30.77 

total long-

term assets 

61.34 67.25 64.60 70.44 69.23 

total assets 1 1 1 1 1 

      

Table 3.4 The proportion of items in long-term assets (%). 

Long-term 

marketable 

securities 

77.91 77.80 79.43 79.70 81.58 

Property, 

plant and 

equipment 

net 

10.89 13.05 12.41 12.63 11.17 

Goodwill 1.26 0.96 1.18 2.83 2.54 

Acquired 

intangible 

assets net 

4.95 3.57 3.13 2.54 1.94 

other assets 4.98 4.63 3.85 2.30 2.76 

total long-

term assets 

1 1 1 1 1 

 

      In the table 3.1, we can know that cash is increased in total, but it is fluctuated in the 

several years. In the 2012, it is decreased by 3.18%, but when comes to the 2013 the cash is 

increased than 2012, it is still lower than 2011. As we all know, if a company hold too much 

money, the company can’t realize the benefit maximization. However, the amount of cash 

held by the company is feasible, it makes sure that the company can have enough money to 

invest to other projects. The short-term marketable securities are decreased in the five years, 

is 22.92% in the 2015, lower 12.95 than 2011. The percentage of accounts receivable is 

steady growth from 2011 to 2014, it is slightly decreased in the 2015, decreased by 6.63%. 

Apple controls the percentage of accounts receivable, it means nearly all trades are not in 

credit. The proportion of inventory is between 1.37% and 3.08%. But from the chart data, 

inventory is increased sharply, due to the increased in market share and sales. The other 
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current assets are waved up and down in 10%, it includes cash surrender value of life 

insurance, policies advances paid to suppliers, advances paid to employees and etc. The 

proportion of long-term assets is fluctuated in 65%, in the 2013 and 2015, the long-term 

assets decreased. The long-term marketable securities are increased except 2012, it 

decreased 0.11%. And the long-term marketable securities are fluctuated in 75%, nearly 

takes up three forth of total long-term assets. Because Apple likes to gain other new 

technology, so Apple invested in other companies and buy others’ securities. The property, 

plant and equipment net becomes smaller and smaller in the five years, because Apple always 

design products but not to make, Apple always entrusts Foxconn to make products, however 

itself buys materials. (OEM: Original Equipment Manufacturer). According to the vertical 

analysis, the proportion of current assets in 2012 and 2014 are lower than 2011, 2013, 2015. 

The reason was in 2012, Apple had extra investments in an associate of long-term current. 

And we can see that goodwill was increased in total, except 2012 and 2015 were decreased. 

     Then we calculate the proportion of each item in equity and liabilities. Given assets as 

the benchmark. The percentage results in the Tab 3.3 and the histogram in the Chart 3.3. 

Table 3.5 The proportion of each item in total equity and liabilities (%). 

 2011 2012 2013 2014 2015 

Total equity 65.84 67.14 59.69 48.11 41.09 

non-current 

liabilities 

10.13 10.97 19.22 24.52 31.16 

current 

liabilities 

24.04 21.89 21.09 27.37 27.75 

total 

liabilities 

34.16 32.86 40.31 51.89 58.91 

Total equity 

and liabilities 

100.00 100.00 100.00 100.00 100.00 
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Chart 3.3 Vertical common-size analysis of equity and liabilities 

 

     In the Table 3.3, we can see the total equity is decreasing in these years except 2012, 

even though the amount is still increasing. Because these years, Apple through the capital to 

expand operating scale and market share. The total liabilities are increasing in these years 

except 2012, owing to Apple wants to attract investors and money, so Apple issued stocks 

and bonds. Non-current liabilities are increased sharply in the five years, and the current 

liabilities always are steady. The reserves of the total equity are decreased, and the proportion 

of the equity is also decreased. In the beginning, Apple’s total equity takes higher percentage 

than total liabilities, as the time goes on, liabilities are increased and equity is decreased, in 

the 2015, liabilities are higher than equity in proportion. 

     We make a histogram to show the proportion of current liabilities and non-current 

liabilities. (Chart 3.4) 
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Chart 3.4 Vertical common-size analysis of liabilities 

 

     In the chart 3.4, we can see that the current liabilities were main part in 2011, but when 

2015 comes, it became smaller than before, and last two years, the current liabilities were 

stable, it means the company was making the full use of capital to earn more money. When 

2011, the non-current liabilities were very low, but when times went by, it expanded its 

proportion of the total liabilities. We can see it takes more than 50% of the total liabilities. 

When company done operating activities, company used more long-term funds, such as 

convertible bonds. So even though the current liabilities total percentage was increased, its 

percentage of liabilities became lower, from 70% to 48%.  

     We make vertical common-size analysis of income statement. Given data from the 

benchmark. The proportion of each items to total revenue are shown on the Table 3.4, and 

the income statement of Apple shows in Annex 2. The histogram is expressed in the Chart 

3.5. 
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Table 3.6 Vertical common-size analysis of revenue (%) 

 2011 2012 2013 2014 2015 

Total 

operating 

expenses 

68.78 64.70 71.33 71.28 69.52 

Operating 

income 

31.22 35.30 28.67 28.72 30.48 

Financial 

costs(income) 

0.38 0.33 0.68 0.54 0.55 

EBT 31.60 35.63 29.35 29.26 31.03 

Taxation 7.65 8.96 7.68 7.64 8.18 

EAT 23.95 26.67 21.67 21.61 22.85 

Total 

operating 

revenues 

100.00 100.00 100.00 100.00 100.00 

Chart 3.5 Vertical common-size analysis of revenue histogram 

 

 

      In the table 3.4, we can see the proportion of total operating expense is 68.78% in 

2011 by the common size analysis. And it is always fluctuated, in 2012 it decreased to 64.70% 

and after that it increased. The proportion in the last three years are 71.33, 71.28 and 69.52. 

And the operating expense is the biggest part in the revenue, it means that Apple used large 

amount of money to manage operating activities, such as the advertising costs, advertising 
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expense was 1.0 billion, 933 million and 691 million for 2012 ,2011 and 2010. The 

proportion of operating income from operating activities is decreased except 2012. In 2012, 

the proportion increased fiercely. This resulted by from the growth in net sales of iPhone; 

iTunes; software and service. Growth in 2012 reflects strong sales of iPhone 4 and 4s. The 

operating income rising 4.08% than before. In the worldwide area, Nokia’s sell is decline, 

and iPhone expand its market, especially in Asia, China. In China, through cooperation with 

China Unicom (Internet service provider), iPhone and iPad sale well. The proportion of EBT 

is decreased in the several years, except 2012 and 2015. It due to the net sales of iPhone and 

related products and services were $80.5 billion in 2012, representing an increase of $33.4 

billion or 71% compared to 2011. The percentage of financial costs(income) was very low 

and stable. Taxation is increased in 2012 and 2015, the reason is that the income is increased 

in these two years, and in 2011, 2013 and 2014 it is stable. The proportion of EAT was 

extremely stable in the five years except 2012, in 2012 it increased 2.72%.  

     In general, Apple Inc. had a good structure of financial conditions and develop well 

from 2011 to 2015. 

3.2.2 Horizontal common-size analysis of Apple 

In this part, we use horizontal common-size analysis to describe Apple. Horizontal 

common-size analysis is an analysis evaluated on the financial statement over the past years. 

Given the data as the benchmark. We make the sheet to present the absolute and proportion 

changes of each items in five years (2011-2015). The main items and data in the balance 

sheet are shown in annexes. 
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Table 3.7 The main items in balance sheet from 2011 to 2015 (in millions). 

 2011 2012 2013 2014 2015 

Total current assets 44,988 57,653 73,286 68,531 89,378 

Total long-term assets 71,383 118,411 133,714 163,308 201,101 

Total assets 116,371 176,064 207,000 231,839 290,479 

non-current liabilities 11,786 19,312 39,793 56,844 90,514 

current liabilities 27,970 38,542 43,658 63,448 80,610 

total liabilities 39,756 57,854 83,451 120,292 171,124 

Total shareholder’s equity 76,615 118,210 123,549 111,547 119,355 

Total equity and liabilities 116,371 176,064 207,000 231,839 290,479 

From the Table 3.5, we can know the absolute change and percentage of horizontal 

common-size analysis. The results of absolute changes of balance sheet are shown in the 

Table 3.6, and the percentage changes in the balance sheet you can see in the Table 3.7. 

Table 3.8 Absolute change in the balance sheet from 2011 to 2015 (in millions) 

 2011/2012 2012/2013 2013/2014 2014/2015 

Total current assets 12,665 15,633 -4,755 20,847 

total long-term assets 47,028 15,303 29,594 37,793 

total assets 59,693 30,936 24,839 58,640 

non-current liabilities 7,526 20,481 17,051 33,670 

current liabilities 10,572 5,116 19,790 17,162 

total liabilities 18,098 25,597 36,841 50,832 

Total equity 41,595 5,339 -12,002 7,808 

Total equity and liabilities 59,693 30,936 24,839 58,640 
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Table 3.9 Percentage changes in balance sheet from 2011 to 2015 (%) 

 2011/2012 2012/2013 2013/2014 2014/2015 

Total current assets 28.15 27.12 -6.49 30.42 

Total long-term assets 65.88 12.92 22.13 23.14 

Total assets 51.30 17.57 12.00 25.29 

Non-current liabilities 63.86 106.05 42.85 59.23 

Current liabilities 37.80 13.27 45.33 27.05 

Total liabilities 45.52 44.24 44.15 42.26 

Total equity 54.29 4.52 -9.71 7.00 

Total equity and liabilities 51.30 17.57 12.00 25.29 

In the Table 3.6 and Table 3.7, we use horizontal common-size analysis to analyze the 

data. From the balance sheet, we can see that the current assets increased slowly but the non-

current assets increased quickly. We can find that total current assets decreased 4,755 million, 

and declined 6.49% in 2014. Because in 2014, Apple Inc. completed various business 

acquisitions, including the acquisitions of Beats Music, LLC, which offers a subscription 

streaming music service. And the total equity in 2014 decreased than 2013, decreased 9.71%, 

due to the Apple repurchased shares of its common stock in the open market. In the 2012, 

the structure of assets changed, the long term assets increased extremely, approximately 

47028 million, 65.88% than before. At the same time, the current assets increased a little, 

about 28.15%. And the total assets increased 59693 million, due to Apple Inc. held more 

long term stocks and bonds. Additional, the intangible was increased rapidly due to the 

iPhone 4 and 4s.  

In the 2013, non-current liabilities increased extremely huge than before, increased 

20,487 million dollars, and it was 106.05% than before. In the third quarter of 2013, the 

company issued 17.0 billion of long-term debt, which included 3.0 billion of floating -rate 

notes, to manage the risk of adverse fluctuation in interest rates associated with the floating 

-rate notes, the company entered into interest rate swaps with an aggregate notional amount 
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of 3.0 billion, which, in effect, fixed the interest rate of floating-rate notes. The non-current 

liabilities increased quicker than the current liabilities during the five years. The Company’s 

other non-current liabilities in the consolidated balance sheets consist primarily of deferred 

tax liabilities, gross unrecognized tax benefits and the related gross interest and penalties. In 

the 2015, Apple comes out the iPhone 6, thanks to iPhone6, Apple company took up one 

third market share, ranked to world second mobile phone provider. So the laurel gives Apple 

many chances to invest. So in the 2015, the current liabilities and non- current liabilities 

increased extremely.  

During the five years, total liabilities increased and the total shareholder’s equity is 

stable. The company has five million shares of authorized preferred stock, none of which is 

issued or outstanding. In the 2013, the shareholder’s equity was increased, the reason is that 

in April 2013, the company’s board of directors increased the share repurchase program 

authorization from 10 billion to 60 billion, of which 23.0 billion had been utilized as of 

September 28, 2013. The reason why the liabilities increased is the company issued the long-

term debt. Next we will describe the horizontal common-size analysis of income statement. 

The main items of income statement are shown in Table 3.8. 

Table 3.10 The main item of income statement from 2011 to 2015(in million) 

 2011 2012 2013 2014 2015 

Total operating revenue 108249 156508 170910 182795 233715 

Cost of revenue 64431 87846 106606 112258 140089 

Gross profit 43818 68662 64304 70537 93626 

Operating (loss)/profit 20613 19184 42302 41721 46463 

Interest costs(income) 415 522 1156 980 1285 

Operating income 33790 55241 48999 52503 71230 

EBT 34205 55763 50155 53483 72515 

Taxation 8283 14030 13118 13973 19121 

EAT 25922 41733 37037 39510 53394 
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 From table 3.8, we can see every item in the five years. In the 2012, the operating 

revenues increased rapidly, or we can say total operating revenues was in rising trend during 

five years. Due to boutique products strategy, Apple promoted one phone every year, and 

every generation had great improvement, so the operating revenue increased rapidly. Thanks 

to the strategy, it made Apple more competitive in this industry. The gross margin percentage 

in 2012 was 43.9%, compared to 40.5% in 2011. This year-over-year increase in gross 

margin was largely driven by lower commodity and other product costs, a higher mix of 

iPhone sales, and improved leverage on fixed costs from higher net sales. The gross margin 

percentage in 2013 was 37.6% compared to 43.9% in 2012. The year-over-year decrease in 

gross margin in 2013 compared to 2012 was driven by multiple factors including 

introduction of new versions of existing products with higher cost structures and flat or 

reduced pricing. But we can find that the percentage decreased, as higher expenses 

associated with changes to certain of company’s service policies and warranty costs. And in 

2015, the amount of gross profit increased extremely huge, because Apple improved 

leverage on fixed costs from higher net sales. The EBIT of 2013 decreased in the five years, 

owing to average revenue of Apple stores decreased, and the fees of launch iPhone5 and 

Asia pacific segment demand lower than 2012. So the EBT in 2013 decreased. From the 

table, we can find that the EAT in 2012 was higher than the next two years, because in 2012, 

Apple promoted iPad. Then we make the absolute changes of income statement from 2011 

to 2015. (in million) 

Table 3.11 Absolute changes in income statement from 2011 to 2015 

 2011/2012 2012/2013 2013/2014 2014/2015 

Total operating revenues 48259 14402 11885 50920 

Cost of revenue 23415 18760 5652 27831 

Gross profit 24844 -4358 6233 23089 

Operating (loss)/profit -1429 23118 -581 4742 

Interest costs(income) 107 634 -176 305 

Operating income 21451 -6242 3504 18727 
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EBT 21558 -5608 3328 19032 

Taxation 5747 -912 855 5148 

EAT 15811 -4696 2473 13884 

From table 3.8, we can see in 2013 and 2014 the total operating revenues decreased, 

but in 2015 it increased again. In 2012, the operating revenue was higher than the next two 

years, it was 48259 million dollars, but in 2013 and 2014, the operating revenues was smaller 

than before. The reason is that mix sales of iPhone sales and the older production discount, 

so the iPhone sold more than before, but in 2013 and 2014, fixed costs were higher and the 

lower commodities sold well from competitors. The gross profit in 2013 decreased, in 2012 

it increased fiercely, in generally, gross profit was effected by variety of factors, the 

worldwide pricing pressure, the price of providers, the potential of strengthening of the U.S 

dollar and etc. And the EBIT in 2012 and 2014 decreased, the EBT in 2013 increased lower 

than before, because in 2013 the mobile phone increased slowly and R&D fees increased 

much. The similar factors effected the EAT, so the EAT in 2013 decreased. 

Table 3.12 Percentage change of income statement from 2011 to 2015. (%) 

 2011/2012 2012/2013 2013/2014 2014/2015 

Total operating revenues 44.58 9.20 6.95 27.86 

Cost of revenue 36.34 21.36 5.30 24.79 

Gross profit 56.70 -6.35 9.69 32.73 

Operating (loss)/profit -6.93 120.51 -1.37 11.37 

Interest costs(income) 25.78 121.46 -15.22 31.12 

Operating income 63.48 -11.30 7.15 35.67 

EBT 63.03 -10.06 6.64 35.59 

Taxation 69.38 -6.50 6.52 36.84 

EAT 60.99 -11.25 6.68 35.14 

According to the horizontal common-size analysis, the proportion of operating 

revenues increased quickly in 2012, but in 2013 and 2014, its growth was slowdown, was 
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9.20% and 6.95% in these two years. Gross profit was negative growth in 2013, because in 

2012 the sales beyond expectation and in 2013 Apple increased investment in relative 

industry. But we can see even though the operating revenue increased slowly in 2013 and 

2014, the costs of revenue in 2013 was much more than 2014, because in 2013 iPhone was 

launching iPhone5, need a lot of money. The operating profit decreased in 2012 and 2014, 

but in 2013 and 2015 increased, the reason is that in 2012, iPhone 4s sales was under 

expectation and 2014 Apple was concentrated on developing new iPhone. And in 2013, due 

to iPhone5’s sales and older productions reduced price, the iPhone 4s sold well. The 

operating income, EBT and EAT were negative increased in 2013 owing to the gross profit 

in 2013 was negative. And we can see in 2012, sales increased rapidly, because Apple 

promoted new iPhone, the best iPhone in history, iPhone5. So in 2012, Company’s sales 

increased rapidly than 2011. 

3.3 Financial analysis of selected company 

In this chapter, we will analyze Apple Inc. used financial ratios. For calculation, we 

use the methodology and formula in chapter 2. This chapter divides into five parts: liquidity 

of Apple Inc., solvency of Apple Inc., profitability of Apple Inc., activity of Apple Inc. and 

Du-Pont analysis of Apple Inc. 

3.3.1 Liquidity ratios of Apple Inc. 

Liquidity ratios are the ways which measures a company’s ability to meet its short-

term obligations. Liquidity measures how quickly assets are converted into cash. In part, we 

use three ratios: current ratio, quick ratio and cash ratio. Results are shown in the table 3.11 

and trend of each ratios is presented in chart 3.6, chart 3.7 and chart 3.8. And in this part we 

use formula (2.13), (2.14), (2.16) in the chapter 2. 

Table 3.13 Liquidity of Apple Inc. from 2011 to 2015. 

 2,011 2,012 2,013 2,014 2,015 

Current ratio 1.61  1.50  1.68  1.08  1.11  
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Quick ratio 1.58  1.48  1.64  1.05  1.08  

Cash ratio 0.93  0.76  0.93  0.40  0.52  

Trend of current ratio is shown in chart 3.6. 

Chart 3.6 Trend of current ratio of Apple Inc. from 2011 to 2015. 

 

From the benchmark, we know the data of current assets and current liabilities for 

calculation. The results are shown in the table 3.11 and chart 3.6. From the chart, we can see 

that current ratios were fluctuant during five years, and it has a top point in 2013, but in the 

total trend, it decreased. It decreased from 1.61 to 1.50 between 2011 and 2012, after that it 

increased to 1.68, until 2014 and 2015, the ratios were1.08 and 1.11. Because from 2011, the 

world technology industry changed, Apple depended on high price level get a lot of profit, 

so the current ratio was high in2013. And Apple as a leader in the industry, Apple was active 

to push industrial change, so Apple increased the current assets and liabilities to the 

productions. Apple had high current ratios, because in this way, company had enough money 

to meet the immediate and short-term liabilities and obligations. On conclusion, Apple has 

good current ratios and has enough to meet the obligations from 2011 to 2015. 

The trend of quick ratios is shown in the chart 3.7. 
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Chart 3.7 Trend of quick ratios of Apple Inc. between 2011 and 2015. 

 

We know the current assets, inventories and current liabilities for calculation. The 

results are shown in the table 3.11 and chart 3.7. We can see that the quick ratio is over 1.00 

in the five years, but in 2012, 2014, it decreased to 1.48 and 1.05, and in 2013 and 2015, it 

was increased. Due to the expectation of iPhone 5s, Apple prepared many productions in 

store, but customers were not willing to buy new phone, the inventories increased, so the 

quick ratio was high in 2013, the inventories couldn’t convert into cash right now. In 2012, 

quick ratio was lower than 2011, because in 2012, Apple’s new phone sold well in the market, 

there were nearly no inventories. And in 2014 and 2015, the inventories were lower than 

before, because Apple changed the policies and strategy of inventory, for reducing the costs 

of store and increased sales. Quick ratio is more stringent measure of liquidity than current 

ratio because it includes only the more liquidity current assets, all inventories converted into 

cash by selling. So Apple Inc. has good quick ratio from 2011 to 2015. 

The trend of cash ratio shows in the chart 3.8. 
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Chart 3.8 Trend of cash ratio of Apple Inc. between 2011 and 2015. 

 

For calculation, we need to know cash, marketable securities and current liabilities, all 

these data are from the benchmark. The results are shown in the table 3.11 and chart 3.8. 

From the chart 3.8 and table 3.11, we can know see the cash ratio was fluctuated between 

0.40 and 0.93. The cash ratio decreased rapidly in the 2014, to 0.40, it is the lowest in the 

five years. And in 2011 and 2013, the ratio was same, 0.93. After 2014 the cash ratio returned 

back to 0.52. Due to the cash ratio just include the cash and short-term securities, higher 

ratio meant greater liquid to a company, market securities were traded on the market and if 

a company owned more securities, the cash ratios increased a lot. In 2011 and 2013, Apple 

had a large amount of cash in account and securities. So it was very high in 2011 and 2013. 

But in 2014 and 2015 it decreased very much, but we can believe that the cash ratio can 

return back to higher point in the future. 

3.3.2 Solvency ratios of Apple Inc. 

Solvency ratios are the ratios that measures a company’s ability to fulfil its long-term 

obligations. In this chapter, we use two ratios to describe the solvency ratio of Apple Inc. 

The results are shown in the table 3.12 and ach items lines are shown in the chart 3.9 and 

chart 3.10. For the calculation, we use the formulas (2.17) and (2.20) which is written in the 

chapter 2. 
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Table 3.14 Solvency ratios of Apple Inc. from 2011 to 2015. (%) 

 2,011 2,012 2,013 2,014 2,015 

Debt-to-assets ratio 34.16 32.86 40.31 51.89 58.91 

Debt-to-equity ratio 51.89 48.94 67.54 107.84 143.37 

The trend of Debt-to-assets is shown in the chart 3.9 

Chart 3.9 Trend of Debt-to-assets ratio of Apple Inc. from 2011 to 2015. 

 

For calculation, we need to know the total debt and total asset. The results in the Table 

3.12 and the item’s line in the chart 3.9. We can see that in 2012, it decreased to 32.86%. 

Because during these two years, Apple’s assets increased rapidly, due to the goodwill and 

sales of iPhone and iPad. Then from 2012, the debt-to-assets equity increased stable. From 

32.86% to 58.91%, for from 2012, Apple issued a lot of long-term debt, which include a 

large amount of floating-rate notes. Apple’s debt is 3A+, so it had good goodwill to fulfil all 

this long-term debt, and investors were willing to buy the long-term debt of Apple. The lower 

of the debt-to-assets ratios, the better of the financial conditions, it meant lower financial 

risk and stronger solvency. Lower ratios meant that the company had more assets to meet 

the long-term debt, so the ratio of Apple Inc. is high, but Apple has enough assets to fulfil 

on time, so Apple can get high goodwill. 

34.16% 32.86%

40.31%

51.89%

58.91%

0.00%

10.00%

20.00%

30.00%

40.00%

50.00%

60.00%

70.00%

2,011 2,012 2,013 2,014 2,015



45 

 

The trend of Debt-to-equity ratios are shown in the chart 3.10. 

Chart 3.10 Trend of Debt-to-equity of Apple Inc. from 2011 to 2015. 

 

For calculation, we need to know the debt and total equity, all the data is from 

benchmark. The results are shown in the Table 3.12 and line chart presents in chart 3.10. 

From 2011 to 2012, the ratio decreased, because in these two years, shareholder’s equity 

increased more than the debt, so the ratio decreased, and after 2012, the ratio increased 

quickly. In 2013, it increased to 67.54%, because in 2013, Apple depended on the good 

strategy of new iPhone and iPad, Apple had a lot of profit and stocks increased, and company 

entered a stable development period. In 2014 and 2015, the ratios increased to the 107.84% 

and 143.37%, because in these two years, Apple issued many long-term-debt to invest in the 

net purchase, sales and maturities of marketable securities. And Apple used the money to 

acquire property. The other reason is that Apple’ shareholders want dividends, so every year 

company gave dividends to them. Debt-to -equity ratio is similar to the debt-to-assets ratio; 

high ratio indicates weak solvency. Apple Inc. had very low ratios in 2011, 2012 and 2013, 

so it meant that Apple has good solvency in this period, but from 2014, the ratio over 100%, 

it is bad for Apple Inc. to face long-term risk. 
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3.3.3 Profitability ratios Apple Inc. 

In this part, we will use profit margin, operating margin, return on assets and return on 

equity to analyze the profitability of Apple during selected period. The results of gross profit 

margin and operating margin shows in Table 3.13, and each items’ line are presented in chart 

3.11. The formulas we use are from (2.8), (2.9), (2.11) and (2.12) in chapter 2. 

Table 3.15 Gross profit margin and operating profit margin of Apple Inc. from 2011 to 

2015(%) 

 2011 2012 2013 2014 2015 

Gross profit margin  23.95 26.67 21.67 21.61 22.85 

Operating profit margin 31.22 35.30 28.67 28.72 30.48 

Chart 3.11 Trend of gross profit margin and operating profit margin of Apple Inc. 

 

For calculation, we need to know EBIT and revenues. The results are shown in the 

Tab 3.13 and line chat presents in the Chart 3.11. In 2012, the operating profit margin 

increased to 35.30%, higher than 2011. The reason is that the numerator of operating profit 

margin increased a lot in 2012, it meant the revenue in 2012 increased a lot. Because the 

costs reduced and sales increased, due to the iPhone 4s sold well and reduced the inventories, 

so increased gross profit of the company. Moreover, Apple invested other companies, merger 
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beats and some small companies. And in 2013, the operating profit margin was lower than 

before, it decreased by 6.63%, to 28.67%. Because Apple revenues decreased, and Apple 

was compared with some competitors in the market. The company was subjected to 

significant supply and pricing risks. After 2013, the trend of operating profit margin 

increased stable, a higher operating margin indicates high production pricing and low 

production costs. And it means that the products of Apple had a competitive advantage in 

the market. The operating profit in the 2012 is high, it indicates Apple need to controls its 

costs, the ratios show it is bad for Apple in 2012. 

For calculating the gross profit margin, we need to know the EAT and revenues. The 

results presents in the Tab 3.13 and the line chart shows in Chart 3.11. We can see the gross 

profit margin was lower than the operating profit margin, because the numerator is small 

than operating profit margin. In 2012, the gross profit margin increased to 26.67%, because 

it was driven by lower commodity and other product costs. And in 2013, the ratio decreased 

by 5.00%, because introduction of new versions of existing products with higher cost 

structure and reduced pricing. During 2013 to 2015, in these three years, the gross profit 

margin was stable. Higher gross profit margin indicates a company earns a lot profit during 

a period, so it means the Apple’s productions have high profit and high quality. But the ratio 

was beyond 21%, it is good for Apple. 

3.3.4 Activity ratios of Apple Inc. 

Activity ratios measure how utilization of a company to use its assets. In this part, we 

will use the theory to analyze the receivable turnover, inventory turnover and assets turnover. 

The results of these two ratios are shown in the Table 3.15 and the trend of each items are 

presented in the Chart 3.12. We use the formulas (2.25), (2.26), (2.27) which written in the 

chapter 2. 

Table 3.16 Assets, inventory and receivable turnover of Apple Inc. 

 2011 2012 2013 2014 2015 
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Asset turnover 0.25  0.27  0.22  0.21  0.22  

Inventory turnover 42.89  49.94  33.45  23.59  26.20  

Receivable turnover 4.21  4.80  3.56  2.99  3.41  

The trend of asset turnover, inventory turnover and receivable turnover show in Chart 

3.12. 

Chart 3.12 Trend of activity ratios of Apple Inc. from 2011 to 2015 

 

For calculation, we need to know the revenues, assets, inventories and receivables. The 

results are shown in the table 3.15 and each line represent in the chart 3.12. We can see from 

the table, the asset3.s turnover is always beyond 0.2, except 2014. The assets turnover 

measures a company’s ability to generate revenues with a given level of assets. Higher ratio 

indicates a high degree of efficiency. In 2012, the assets turnover increased to 0.27, the 

reason is that in 2012, Apple’s inventory is very low, and sold more than the last years. But 

after 2012, the assets turnover decreased to 0.22, the next three years, inventories increased 

and sales increased a little, so the ration is lower than 2012, so in the future, Apple should 

reduce inventories and use full of the assets.  

In 2012, the inventory turnover increased to 49.94%, increased by 7.05% than 2011, 

because in 2012, iPhone sold well, there was nearly no inventories in store, so the ratio is 
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very high, it meant the Apple’s production is competitive in the industry and customers 

preferred to buy. After 2012, the inventory turnover decreased year by year. Due to less 

inventories, the efficiency of inventories increased and decreased the store fees. Therefore, 

high inventory turnover ratio meant high effective inventory management. So the ratio shows 

the Apple had good inventory conditions. 

The receivable turnover of 2012 was higher than 2011, because in 2012, the accounts 

receivable decreased, in that year, trades made by cash or transfer. After 2012, the receivable 

turnover decreased to 3.56%, and in 2014 the ratio still decreased to 2.99%, in 2015 the ratio 

increased to 3.41%. Because in the three years, Apple entered into a new development stage, 

the speed of production, orders and research speed increased than other companies, so the 

ratio decreased in the years. High receivable turnover ratio means the credit or collection 

policy of a company are stringent and it is worth to invest. Because account receivable can 

convert into cash and if company gets account receivable from consumers quickly. Even the 

ratio of Apple Inc. in 2014 is very low, but we can believe Apple is a good company. 
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4. Profitability Assessment 

In this chapter, we will use Du-Pont analysis to evaluate the profitability performance 

of Apple, to find which factors effects the performance much, and we compare the 

competitor Lenovo and Apple’s performance in /2015 and after that we will introduce more 

details about the Apple Inc.’s profitability performance and then we have a summary for the 

last two chapters, last but not least, we give some recommendations to Apple Inc. 

4.1 Du-Pont analysis of Apple Inc. 

In this part, we will use Du-Pont analysis to analyze the profit level of Apple. We use 

the formula (2.36), (2.37), (2.38), (2.39) and (2.40), (2.41), (2.41) of chapter 2 to calculate. 

ROE can decompose for five parts, tax burden, interest burden, ROS, asset turnover 

and financial leverage. ROS can divide into C/R, and C/R can divide into Cs/R, Crd/R, Co/R. 

And the asset turnover can divide into A/R*360, and the A/R can divide into (FA/R) and 

(CA/R). We calculate the results and use to shown the results. We will analyze trend of the 

change in component ratio by gradual changes. Gradual changes can quantify the changes 

in the basic ratio due to the change in the component ratio. We analyze the ROE ratio like 

our chart. 

Chart 4.1 Value of each item in decomposition of Apple Inc. from 2012 to 2015. 

 2012 2013 2014 2015 

ROE 0.3530  0.2998  0.3542  0.4474  

Tax burden 0.7484  0.7385  0.7387  0.7363  

Interest burden 1.0094  1.0236  1.0187  1.0180  

ROS 0.3530  0.2867  0.2872  0.3048  

Asset turnover 0.8889  0.8257  0.7885  0.8046  

Financial Leverage 1.4894  1.6754  2.0784  2.4337  

C/R 0.5613  0.6238  0.6141  0.6952  
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A/R∙360 404.9827  436.0190  456.5882  447.4357  

Cs/R 0.0642  0.0634  0.0656  0.0613  

Crd/R 0.0216  0.0262  0.0330  0.0345  

Co/R 0.4755  0.5342  0.5155  0.5994  

(FA/R)∙360 272.3690  281.6510  321.6219  309.7634  

(CA/R)∙360 132.6135  154.3676  134.9663  137.6723  

(Receivable/R)∙360 42.9954  43.4776  53.6056  46.7385  

(Inventory/R)∙360 1.8195  3.7156  4.1574  3.6183  

(Cash/R)∙360 7.1513  18.3360  20.1511  16.0981  

(other CA/R) 80.6474  88.8383  57.0521  71.2175  

Chart 4.2 Absolute change of decomposition of Apple Inc. from 2012 to 2015. 

 2012/2013 2013/2014 2014/2015 

ROE -0.0532  0.0544  0.0932  

Tax burden -0.0099  0.0002  -0.0024  

Interest burden 0.0142  -0.0049  -0.0007  

ROS -0.0663  0.0005  0.0176  

Asset turnover -0.0632  -0.0372  0.0161  

Financial Leverage 0.1860  0.4030  0.3553  

C/R 0.0625  -0.0097  0.0811  

A/R∙360 31.0363  20.5692  -9.1525  

Cs/R -0.0008  0.0022  -0.0043  

Crd/R 0.0046  0.0068  0.0015  

Co/R 0.0587  -0.0187  0.0839  

(FA/R)∙360 9.2820  39.9709  -11.8585  

(CA/R)∙360 21.7541  -19.4013  2.7060  

(Receivable/R)∙360 0.4822  10.1280  -6.8671  

(Inventory/R)∙360 1.8961  0.4418  -0.5391  
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(Cash/R)∙360 11.1847  1.8151  -4.0530  

(other CA/R) 8.1909  -31.7862  14.1654  

Chart 4.3 Gradual changes of ROE of Apple Inc. from 2012 to 2015. 

 2012/2013 2013/2014 2014/2015 

ROE -0.0533  0.0544  0.0932  

Tax burden -0.0047  0.0001  -0.0012  

Interest burden 0.0049  -0.0014  -0.0002  

ROS -0.0663  0.0006  0.0216  

Asset turnover -0.0204  0.0135  0.0077  

Financial Leverage 0.0333  0.0687  0.0653  

C/R -0.0663  0.0006  0.0216  

A/R∙360 -0.0204  0.0135  0.0077  

Cs/R 0.0008  -0.0001  -0.0011  

Crd/R -0.0049  -0.0004  0.0004  

Co/R -0.0623  0.0011  0.0223  

(FA/R)∙360 -0.0061  -0.0262  0.0099  

(CA/R)∙360 -0.0143  0.0127  -0.0023  

(Receivable/R)∙360 -0.0003  0.0104  0.0057  

(Inventory/R)∙360 -0.0012  0.0005  0.0005  

(Cash/R)∙360 -0.0074  0.0019  0.0034  

(other CA/R) -0.0054  0.0000  -0.0119  
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Chart 4.4 Chart of results by Du-Pont analysis from 2012 to 2013. 

 

From this chart, it is obvious that the return on equity of our selected company is by 

5.3% lower than ROE of rival. Conducting the influence analysis within decomposition, we 

may conclude that the difference resulted from tax burden, assets turnover and ROS. 

As shown in the figure, the Co/R was 6.23% negatively and had the biggest influence 

in return on equity, and then was Cash/R influenced by 1.2% in negative way as through the 

assessment, the use efficiency of cash and the other cost were relatively lower, so it also 

caused ROE in 2013 was lower than 2012. And Crd/R ratio was higher than 2012, it 

increased to 0.0262, because Apple must invest more to develop new products, keep 

competitive is necessary in this industry.  
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Chart 4.5 Chart of results by Du-Pont analysis from 2013 to 2014. 

 

From this chart, we can find that the return on equity of analyzed company is 5.3% 

higher in ROE than last year. We can say that the change resulted by the tax burden, ROS 

and financial leverage. The tax burden is 0.01% higher than 2013, the ROS ration increased 

0.2872 and financial leverage had the biggest growth in the three items, it increased to 2.0784.  

According to the figure, it is clear to see the ROE was influenced by two main ratios: 

The FA/R*360 influenced 2.6% in the negative way, the financial leverage affected ROE by 

6.9% positively. It illustrated Apple Inc. used more fixed assets to make profit in2014, which 

means Apple used fixed assets effectively in 2013 for financial leverage, the positive 

influence means the financial leverage was larger than the previous years, it also reflects the 

proportion of equity in total assets was reasonable. 
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Chart 4.7 Chart of results by Du-Pont analysis from 2014 to 2015. 

 

From this chart, it is obvious that the return on equity of selected company is by 9.32% 

higher in ROE. This high growth resulted by ROS, Assets turnover and financial leverage. 

the ROS is 2.16% higher than before, and the assets turnover is 8% higher than before.  

Then we continue to decompose the ratio, and found the two ratios have important 

influence in return on equity: receivable days (receivable/revenue∙360) and 5.7% positive 

influence in ROE; the other costs affected the ROE by 1.8% positively. It reflects Apple had 

good performance in the use of other cost and used other cost efficiently in 2015, in the term 

of receivable, Apple had efficient management as well in 2015. Under comparison with 2014, 

the receivable days was relatively shortly than 2014.  

4.2 Profitability assessment. 

In this chapter, we will concentrate on the profitability assessment, and evaluate which 

items are the main factors affect the ROE. 
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Chart 4.8 Value of each item in decomposition of Apple Inc. from 2012 to 2015. 

 2012 2013 2014 2015 

ROE 0.3530  0.2998  0.3542  0.4474  

Tax burden 0.7484  0.7385  0.7387  0.7363  

Interest burden 1.0094  1.0236  1.0187  1.0180  

ROS 0.3530  0.2867  0.2872  0.3048  

Asset turnover 0.8889  0.8257  0.7885  0.8046  

Financial Leverage 1.4894  1.6754  2.0784  2.4337  

C/R 0.5613  0.6238  0.6141  0.6952  

A/R∙360 404.9827  436.0190  456.5882  447.4357  

Cs/R 0.0642  0.0634  0.0656  0.0613  

Crd/R 0.0216  0.0262  0.0330  0.0345  

Co/R 0.4755  0.5342  0.5155  0.5994  

(FA/R)∙360 272.3690  281.6510  321.6219  309.7634  

(CA/R)∙360 132.6135  154.3676  134.9663  137.6723  

(Receivable/R)∙360 42.9954  43.4776  53.6056  46.7385  

(Inventory/R)∙360 1.8195  3.7156  4.1574  3.6183  

(Cash/R)∙360 7.1513  18.3360  20.1511  16.0981  

(other CA/R) 80.6474  88.8383  57.0521  71.2175  

From this chart, we can see that ROE decreased in the 2013 and in other years, the ROE 

increased. The tax burden was very stable from 2012 to 2015, it always floated with 0.73. It 

means Apple Inc. has good tax burden in the assets structure. In the ROS, we can see in the 

2012 ROS was the highest, and after that the ROS decreased, but in the 2015, it creased 

again. Assets turnover is an item can reflect a company’s efficiency to use their assets, from 

this ratio, we can see that in 2013 in 2014, the assets turnover decreased very much, and 

financial leverage increased from 2012 to 2015, even though Apple’s revenue increased in 

these years. The Total costs/Revenue increased these years, so Apple Inc. should control the 

proportion of the costs, decreased the costs. And the research and development costs 
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increased in the four years, because in this industry, Apple Inc. is a leader, and it should keep 

the competition in the industry, so invest too much money in development. The receivable/R 

increased in 2014, and in other years it decreased.  

4.3 Summary of Apple Inc. 

In last part, we used results to make financial analysis from four financial ratios: 

liquidity ratio, solvency ratio, activity ratio and profitability ratio, and we use common-size 

analysis, vertical common-size analysis and horizontal common-size analysis to evaluate the 

Apple Inc.’s performance. 

For liquidity ratio, we used the current ratio, quick ratio and cash ratio to analyze the 

Apple company. The results of three ratios are very similar, it increased in 2013. But in 

general, current ratio, quick ratio and cash ratio decreased from 2011 to 2015. The trend is 

bad for Apple, because it means Apple had too much inventories, not the cash or some other 

short-term securities. But in the recently years, global economics began to recover and the 

consuming ability of people increased, so the sales of iPhone increased, it bought a great 

amount of money to Apple Inc. And due to the market share expanded, Apple Inc. promoted 

new phone. IPhone 5se. These influences simulated the selling increased of Apple Inc. Due 

to these reasons, Apple Inc.’s liquidity will be better in the future. 

For solvency ratios, we used two ratios, debt-to-assets ratios and debt-to-equity ratios. 

Debt-to-assets ratio increased to 58.91% in 2015, the trend is not good for Apple Inc. The 

lower ratio means that the company has lower financial risk and stronger solvency. In another 

word, Apple preferred to issued bonds because Apple has good goodwill, and Apple 

preferred to use the investment to earn more. So in the five years, Apple Inc. expanded the 

market share, and had a lot of cash to develop. Debt-to-equity ratio increased from 51.89% 

to 143.37% in the five years. Even though it decreased in the 2012 to 28.94%. The trend was 

bad for Apple in these years. Because from 2011, Apple entered a high speed development 

period. Apple Inc. had changed strategies to operating management. All these can affect the 

equity in many ways. Therefore, the solvency ability of Apple Inc. will be better in the future. 
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For activity ratios, we used three ratios to analyze Apple’s financial conditions: 

receivable turnover, inventory turnover, assets turnover. The trend of assets turnover 

decreased from 2012, from 0.27 to 0.22. Even though the turnover decreased, it can’t say it 

is bad for Apple. During these years, the revenues of Apple increased, and the assets of Apple 

increased too. So the ratio decreased, but in fact, revenues increased a lot. For receivable 

turnover, it decreased from 4.21 to 2.41. Because in the five years, Apple Inc. entered a high 

speed development period, the time of production, orders and research time decreased a lot, 

so we can see the trend of Apple is good in the five years. For inventory turnover, it decreased 

in general, decreased by 16.19% to 26.20% in 2015. Because Apple’s productions were 

popular all over the world, so there were nearly no inventories in store, these helped Apple 

decreased costs of operating and selling. So it decreased a lot was good for company to 

reduce costs. 

For profitability ratio, we used gross profit margin and operating profit margin. The 

results of gross profit margin and operating profit margin were decreased a little in the five 

years, the gross profit margin from 23.95% to 22.85% and operating profit margin from 

31.22% to 30.48%. The results were not changed a lot because the formula’s numerator and 

denominator increased a lot in total. Because Apple invested a lot in the new productions 

research and development. So Apple should control costs and make new strategy to manage 

daily activities. 

In summary, Apple Inc. had a good financial performance and situation from 2011 to 

2015. 

4.4 Recommendation to Apple Inc. 

According to the results of all kind of financial methodologies, they can give us some 

information about company’s performance and health. In this part, we compare Apple Inc. 

to Lenovo. Lenovo is a technology company in China, it produces the personal computers, 

tablet computers, smartphones, workstations, servers, electronic storage devices and so on. 

In this chapter, we compare the two companies’ last year financial report.  
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The Chart 4.7 Comparison of Apple and Lenovo in 2015. 

You can find the chart in Annexes. 

From this chat, it is obvious that the return on equity of Apple is by 9.32% higher than 

Lenovo in ROE. This high growth resulted by the difference among the interest burden and 

ROS. Among these factors, ROS is the main reason of them. The absolutely change of 

interest burden is 14.21% and the gradual change is 2.84%. The absolutely change of ROS 

is 28.08%, but the gradual change is 238.65%. The high growth of Apple Inc. resulted by the 

ROS and assets turnover, the ROS is 2.16% higher than before, and the assets turnover is 8% 

higher than before. 

It is clear to obverse the receivable days (receivables/revenue*360) was 7% and had the 

most influence in ROE, then was the other cost, influenced 2.2 positively as well. It 

illustrated Apple Inc. had better management in receivable, and used relatively less time to 

get cash back. 

Furthermore, we found that C/R ratio is one of the main cause, the Lenovo’s C/R ratio 

is 28.80% higher than Apple Inc. It means that Lenovo’s profit ratio is low and it cause the 

revenue decreased. The profitability ratio of iPhone is about 35% to 45% without other costs 

(inventory costs, transport costs and so on). But Lenovo’s profit ratio is about 10% to 15%. 

And from chart, we can see that in selling costs and research and development costs ratio, 

Apple is lower than Lenovo.  

 As we all know, Apple has high profit in this industry, it resulted from the high price, 

so we can see that Lenovo sells at low price and high quantity, but Apple sells at high price 

and high quantity. And the EBIT/R of Apple Inc. is 0.3048, but the assets turnover is lower 

than Lenovo, that means Apple Inc. can’t use its assets efficiently and Apple Inc. should 

increase its assets turnover, should increase it to 0.88 and keep it stable. And Apple Inc. 

should decrease its selling costs, the Cr/R is 0.0345 in 2015, higher than Lenovo, so Apple 

Inc. should decrease its research and development costs. And the Assets/R is low, Apple 

should keep or decrease the Assets/R, so Apple can make full use of the money and use 
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money efficiently. And because Apple Inc. has big cash reserve, so Apple Inc. needn’t to 

borrow money to operating, so the financial leverage is low. And Apple depends on the high 

price, so it can bring the high profit margin, and the main products is iPhone, when iPhone 

sells worse, the inventory ratios will increase and the Apple’s profit decreased, so Apple 

should develop more ways to sell the phones, and it can decrease the inventory costs. 
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5. Conclusion 

According to the results of two financial methodologies, they can give us so much 

information to evaluate the health of a company. For investors, they can know the 

performance of a company and choose to invest or not. For creditors, they can decide how 

much money they want to lend to this company, they can get how much return. For company 

managers, they can adjust their strategies, policies and staff, to make company get more 

profit in the next period. 

This thesis was aimed to assess Apple Inc. financial profitability and health. We use 

varies of ratios and methods to make the assessment. And the thesis is divided into five parts, 

the first and last part are introduction and conclusion, second chapter we describe theory, 

third chapter was about Apple’s common-size analysis and ratio analysis, forth chapter was 

about summary to last part and recommendation to Apple Inc. 

In chapter 2, we described the financial statement, common-size analysis, financial ratio 

analysis and Du-Pont analysis. Firstly, we introduced financial statement. Financial 

statement was divided into three statement: balance sheet, income statement, cash flow 

statement. And we also describe each items of three sheet. Then we introduce the common-

size analysis. Common-size analysis includes wo types: vertical common-size analysis and 

horizontal common-size analysis. And then we introduce some formula of them, at the end 

we introduce some financial ratios and their definition and their formulas. Financial ratios 

include the liquidity ratio, activity ratio, solvency ratio and profitability ratio. Last but not 

least, we introduce the Du-Pont analysis. 

Chapter 3 was about some financial information of Apple Inc. Firstly, we introduce 

some basic information about Apple: history, business structure and competitor in same 

industry. Second, we use common-size analysis to evaluate the Apple Inc. The data is from 

benchmark of balance sheet and income statement of Apple Inc. Then we used the common-

size analysis to compare each year data and make charts to compare. Finally, we used 

horizontal common-size analysis to analyze between two different years from 2011 to 2015. 
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We used the absolute changes and percentage changes of balance sheet and consolidated 

income statement of Apple Inc. to analyze. And we also use financial ratio analysis and 

formulas to analyze company’s health. We calculate four ratios: liquidity ratio, solvency ratio, 

activity ratio and profitability ratio. And then we evaluate the health of company depends on 

our results and give many charts to describe them. 

In the chapter four we make a summary to last chapter, and give some recommendation 

to Apple Inc. for better development. 

Apple Inc. is a great technology company in the world, to some extent, it changes our 

ways of life, and give us new cognition of phone and tablet. Due to the recovery of global 

economics, the financial situation of Apple was good during five years (2011-2015). To 

remain competitive and stimulate customer demand, the Company must successfully 

manage frequent product introductions and transitions. There we believe Apple Inc. can do 

better in the future. 
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Annexes 1: Balance sheet of Apple Inc. from 2011 to 2015(in million dollar). 

ASSETS 2011 2012 2013 2014 2015 

Current assets:      

Cash and cash equivalents 9,815 10,746 14,259 13,844 21,120 

Short-term marketable securities 16,137 18,383 26,287 11,233 20,481 

Accounts receivable 5,369 10,930 13,102 17,460 16,849 

Inventories 776 791 1,764 2,111 2,349 

Deferred tax assets 2,014 2,583 3,453 4,318 5,546 

Vendor non-trade receivables 6,348 7,762 7,539 9,759 13,494 

Other current assets 4,529 6,458 6,882 9,806 9,539 

Total current assets 44,988 57,653 73,286 68,531 89,378 

total long-term assets 71,383 118,411 133,71

4 

163,308 201,10

1 

Long-term marketable securities 55,618 92,122 106,21

5 

130,162 164,06

5 

Property plant and equipment net 7,777 15,452 16,597 20,624 22,471 

Goodwill 896 1,135 1,577 4,616 5,116 

Acquired intangible asset net 3,536 4,224 4,179 4,142 3,893 

other assets 3,556 5,478 5,146 3,764 5,556 

total assets 116,371 176,06

4 

207,00

0 

231,839 290,47

9 

      

LIABILITIES AND EQUITY      

Current liabilities:      

Accounts payable 14,632 21,175 22,367 30,196 35,490 

Accrued expenses 9,247 11,414 13,856 18,453 25,181 

Deferred revenue 4,091 5,953 7,435 8,491 8,940 

Commercial paper   0 6,308 8,499 
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Current portion of long-term debt      2,500 

Total current liabilities 27,970 38,542 43,658 63,448 80,610 

Deferred revenue-non-current 1,686 2,648 2,625 3,031 3,624 

Long-term debt    28,987 53,463 

Other noncurrent liabilities 10,100 16,664 20,208 24,826 33,427 

Total Liabilities 39,756 57,854 83,451 120,292 171,12

4 

Commitments and contingencies      

Shareholders' equity:      

Common stock, no par value 13,331 16,422 19,764 23,313 27,416 

Retained earnings 62,841 101,28

9 

104,25

6 

87,152 92,284 

Accumulated other comprehensive 

income/(loss) 

443 499 -471 1,082 -345 

Total shareholders' equity 76,615 118,210 123,54

9 

111,547 119,35

5 

Total liabilities and shareholders' 

equity 

116,371 176,06

4 

207,00

0 

231,839 290,47

9 
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Annexes 2: Income statement of Apple Inc. from 2011 to 2015(in million dollar). 

 2010 2011 2012 2013 2014 2015 

Cash and cash equivalents, 

beginning of the year 

5,263 11,261 9,815 10,746 14,259 13,844 

Operating activities:       

Net income 14,01

3 

25,922 41,733 37,037 39,510 53,394 

Adjustments to reconcile net income 

to cash generated by operating 

activities: 

     

Depreciation and 

amortization 

1,027 1,814 3,277 6,757 7,946 11,257 

Share-based compensation 

expense 

879 1,168 1,740 2,253 2,863 3,586 

Deferred income tax 

expense 

1,440 2,868 4,405 1,141 2,347 1,382 

Changes in operating assets 

and liabilities: 

      

Accounts receivable, net -2,142 143 -5,551 -2,172 -4,232 611 

Inventories -596 275 -15 -973 -76 -238 

Vendor non-trade 

receivables 

-2,718 -1,934 -1,414 223 -2,220 -3,735 

Other current and non-

current assets 

-1,610 -1,391 -3,162 1,080 167 -179 

Accounts payable 6,307 2,515 4,467 2,340 5,938 5,400 

Deferred revenue 1,217 1,654 2,824 1,459 1,460 1,042 

Other current and non-

current liabilities 

778 4,495 2,552 4,521 6,010 8,746 
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Cash generated by 

operating activities 

18,59

5 

37,529 50,856 53,666 59,713 81,266 

       

Investing activities:       

Purchases of marketable 

securities 

-

57,79

3 

-

102,31

7 

-

151,23

2 

-

148,48

9 

-

217,12

8 

-

166,40

2 

Proceeds from maturities of 

marketable securities 

24,93

0 

20,437 13,035 20,317 18,810 14,538 

Proceeds from sales of 

marketable securities 

21,78

8 

49,416 99,770 104,13

0 

189,30

1 

107,44

7 

Payments made in 

connection with business 

acquisitions, net of ash 

acquired 

-638 -244 -350 -496 -3,765 -343 

Payments for acquisition of 

property, plant and 

equipment  

-2,005 -4,260 -8,295 -8,165 -9,571 -11,247 

Payments for acquisition of 

intangible assets 

-116 -3,192 -1,107 -911 -242 -241 

Other -20 -259 -48 -160 16 -26 

Cash used in investing 

activities  

-

13,85

4 

-40,419 -48,227 -33,774 -22,579 -56,274 

       

Financing activities:       

Proceeds from issuance of 

common stock 

912 831 665 530 730 543 
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Excess tax benefits from 

equity awards  

751 1,133 1,351 701 739 749 

Dividends and dividend 

equivalent rights paid 

0 0 -2,488 -10,564 -11,126 -1,499 

Taxes paid related to net 

share settlement of equity 

awards 

-406 -520 -1,226 -1,082 -1,158 -11,561 

Repurchase of common 

stock 

0 0 0 -22,860 -45,000 -35,253 

Proceeds from issuance of 

long-term debt, net  

0 0 0 16,896 11,960 27,114 

Proceeds from issuance of 

commercial paper, net  

0 0 0  6,306 2,191 

Cash (used in)/generated by 

financing activities 

1,257 1,444 -1,698 -16,379 -37,549 -17,716 

Increase/(decrease) in cash 

and cash equivalents 

5,998 -1,446 931 3,513 -415 7,276 

Cash and cash equivalents, 

end of the year 

11,261 9,815 10,746 14,259 13,844 21,120 

       

Supplemental cash flow 

disclosure: 

      

Cash paid for income taxes, 

net 

2,697 3,338 7,682 9,128 10,026 13,252 

Cash paid for interest 0 0 0 0 339 514 
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Annexes 3: Du-Pont analysis chart of Apple Inc. 

Chart A.1 2012 and 2013  

 

 

Chart A.2 2013 and 2014 

 

 

Chart A.3 2014 and 2015. 
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Inventory/R

Cash/R

INFLUENCE

0.3542 0.4474

0.0932

0.7387 0.7363 1.0187 1.0180 0.2872 0.3048 0.7885 0.8046 2.0784 2.4337

-0.0024 -0.0006 0.0175 0.0161 0.3553

1.0000 1.0000 0.6141 0.6952 1.0000 1.0000 456.5882 447.4357

0.0000 0.0811 0.0000 -9.1525

0.0656 0.0613 0.0330 0.0345 0.5155 0.5994 321.6219 309.7634 134.9663 137.6723

-0.0043 0.0015 0.0839 -11.8585 2.7060

53.6056 46.7385 4.1574 3.6183 20.1511 16.0981 57.0521 71.2175

-6.8672 -0.5392 -4.0530 14.1654

0.0932

(other CA/R)

-0.0119

ROE

EAT/E

EAT/EBT EBT/EBIT EBIT/R R/A A/E

tax burden interest burden ROS Asset turnover Financial Lev

0.0653

1.0000 C/R 360.0000
A/R*360

0.0077

-0.0012 -0.0002 0.0216 0.0077

Total costs/Rev

0.0000 0.0216 0.0000

-0.0011 0.0004 0.0223 0.0099 -0.0023

Cs/R Crd/R Co/R (FA/R)*360 (CA/R)*360

(Receivable/R)*360 (Inventory/R)360 (Cash/R)*360

0.0057 0.0005 0.0034

INFLUENCE
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0.2049 0.4474

0.2425

0.8616 0.7363 0.8759 1.0180 0.0239 0.3048 1.7095 0.8046 6.6317 2.4337

-0.1253 0.1421 0.2808 -0.9049 -4.1979

1.0000 1.0000 0.9761 0.6952 1.0000 1.0000 210.5872 447.4357

0.0000 -0.2808 0.0000 236.8485

0.0904 0.0613 0.0264 0.0345 0.8593 0.5994 90.6193 309.7634 119.9679 137.6723

-0.0291 0.0081 -0.2599 219.1441 17.7044

61.9896 46.7385 23.2925 3.6183 16.4153 16.0981 0.050751 0.197826

-15.2511 -19.6743 -0.3172 0.147075

(Receivable/R)*360 (Inventory/R)360 (Cash/R)*360 (other CA/R)

0.0883 0.1139 0.0018 -0.000851346

Cs/R Crd/R Co/R (FA/R)*360 (CA/R)*360

0.2472 -0.0692 2.2085 -1.2685 -0.1025

-1.3710

-0.0298 0.0284 2.3865 -1.3710

Total costs/Rev

0.0000 2.3865 0.0000

-0.7716

1.0000 C/R 360.0000
A/R*360

tax burden interest burden ROS Asset turnover Financial Lev

EAT/EBT EBT/EBIT EBIT/R R/A A/E

0.0932

ROE

EAT/E

INFLUENCE


